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SOME APPLICATIONS OF
TRIGONOMETRY

1. The length of the shadow of a vertical pole is

1
—— times its height. Find the angle of

V3


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QHLabf4hfkxm

elevation .

A. 60°

B. 45°

c.90°

D. 30"

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QHLabf4hfkxm

2. If a tower 30 m high, casts a shadow 10,/3
m long on the ground, then what is the angle

of elevation of the sun ?

o Watch Video Solution

3. A ladder 15 metres long just reaches the top
of a vertical wall. If the ladder makes an angle
of 60° with the wall, find the height of the

wall.

A.6.5m


https://dl.doubtnut.com/l/_QqXemigSCnN2
https://dl.doubtnut.com/l/_sgbBn1Jcp4BA

B.7.5m

C.8.5m

D. 9.5m

Answer: B

o Watch Video Solution

4. A kite is flying at a height of 60 m above the
ground. The string arrached to the kite is
temporarily tied to a point on the ground. The

inclination of the string with the ground is


https://dl.doubtnut.com/l/_sgbBn1Jcp4BA
https://dl.doubtnut.com/l/_PUKgvO05X3Yh

60°. Find the length of the string, assuming
that there is no slack in the string.

A.20./3

B.40,/3

C.60,/3

D. 80,/3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PUKgvO05X3Yh

5. The shadow of a tower standing on a level
plane is found to be 50 m longer when when
sun's elevation is 30° than when it is 60°. Find

the height of the tower.

o Watch Video Solution

6. The angle of elevation of the top of a tower
from a point on the ground is 30°. After

walking 40,/3 m towards the tower, the angle


https://dl.doubtnut.com/l/_oOjEyyd86Mmh
https://dl.doubtnut.com/l/_4bGT3536fBMl

of elevation becomes 60°. Find the height of

the tower.

° Watch Video Solution

7. The shadow of a tower at a time is three
times as long as its shadow when the angle of
elevation of the Sun is 60°. Find the angle of
elevation of the Sum at the time of the longer

shadow.

A. 60°


https://dl.doubtnut.com/l/_4bGT3536fBMl
https://dl.doubtnut.com/l/_dvCIbX5Lns6T

B. 30°

C. 45°

D. 15"

Answer: B

o View Text Solution

8. The angle of elevation of the top of a tower
from two distinct points s and t from foot are

complementary. Prove that the height of the

tower is y/st.


https://dl.doubtnut.com/l/_dvCIbX5Lns6T
https://dl.doubtnut.com/l/_uRetXpYlSIa4

° Watch Video Solution

9. A tree is broken by the wind. The top struck
the ground at an angle of 30° and at a
distance of 4 m from the root. Find the height

of the tree before broken.

o Watch Video Solution

10. From the top of a tower h m high, angles of

depression of two objects, which are in line


https://dl.doubtnut.com/l/_uRetXpYlSIa4
https://dl.doubtnut.com/l/_YHQo061SgvAi
https://dl.doubtnut.com/l/_CSFVmNqSpz5e

with the foot of the tower are a and
B(B > a). Find the distance between the two

objects.

° Watch Video Solution

11. The angle of elevation of the top of an
unfinished tower at a distance of 120 m from
its base is 30°. How much higher must the
tower be raised so that the angle of elevation

of its top at the same point may be 60° ?

° Watch Video Solution



https://dl.doubtnut.com/l/_CSFVmNqSpz5e
https://dl.doubtnut.com/l/_02jkwgIXrxGD

12. A TV-tower stands vertically on a bank of a
canal. From a point on the other bank directly
opposite the tower, the angle of elevation of
the top of the tower is 60°. From another
point 20 m away from this point on the line
joining this point to the foot of the tower, the
angle of elevation of the top of tower is 30°
(see fig.) . FInd the height of the tower and the

width of the canal.

o Watch Video Solution



https://dl.doubtnut.com/l/_02jkwgIXrxGD
https://dl.doubtnut.com/l/_dK3JTfeXXPhh
https://dl.doubtnut.com/l/_5HBkPgzDmCzn

13. Two man are on the opposite sides of a
tower. They measure the angles of elevation
the top of the tower as 30° and 60°. If the
height of the tower is 150 m, find the distance

between the two men.

o Watch Video Solution

14. Two points A and B are on the same side of
a tower and in the same straight line with its
base. The angles of depression of these points

from the top of the tower are 60° and 45°


https://dl.doubtnut.com/l/_5HBkPgzDmCzn
https://dl.doubtnut.com/l/_s9jamq2t2WHX

respectively. If the height of the tower is 15 m,

then find the distance between these points.

° Watch Video Solution

15. A vertical tower sands on a horizontal
plane and is surmounted by a vertical flag staff
of height h. At a point on the plane, the angles
of elevation of the bottom and the top of the

flag.

° Watch Video Solution



https://dl.doubtnut.com/l/_s9jamq2t2WHX
https://dl.doubtnut.com/l/_kjwxMGbZu8Br
https://dl.doubtnut.com/l/_oOp72SthG5d1

16. From a point P on the ground the angle of
elevation of the top of a tower is 30° and that
of the top a flagstaff fixed on the top of the
tower is 60°. If the length of the flagstaff is

5m, find the height of the tower.

o Watch Video Solution

17. The angle of elevation of the top of a
vertical tower a point on the ground is 60°

From another point 10 m vertical above the


https://dl.doubtnut.com/l/_oOp72SthG5d1
https://dl.doubtnut.com/l/_xCjO4M7lVJ78

first, its angle of elevation is 45°. Find the

height of the tower.

° Watch Video Solution

18. The angles of depression of top and
bottom of a 50 m high building from the top
of a tower are 45° and 60° respectively.
Find the height of the tower and the
horizontal distance between the tower and

the building. (Use /3 = 1.73).

° Watch Video Solution



https://dl.doubtnut.com/l/_xCjO4M7lVJ78
https://dl.doubtnut.com/l/_aE326jghCsqA

19. The angle of elevation of the top Q of a
vertical tower PQ from a point X on the
ground is 60°. From a point Y, 40 m vertically
above X, the angle of elevation of the top Q of
tower is 45°. Find the height of the tower PQ

and the distance PX. (Use /3 = 1.73).

o Watch Video Solution

20. As observed from the top of a light house,

100 m high above sea level, the angles of


https://dl.doubtnut.com/l/_aE326jghCsqA
https://dl.doubtnut.com/l/_frCS8UAI0AT8
https://dl.doubtnut.com/l/_VFzDdogHG8k1

depression of a ship, sailing sirectly towards it,

changes from 30° and 90°.

o Watch Video Solution

21. An aeroplane id flying at a height of 300 m
above the ground. Fying at this height ,
theangles of depression from the aeroplane of
two points on both banks of a river in
opposite  directions are 45° and 60°

respectively. Find the width of the river.[use

V3 = 1.732]

| e |


https://dl.doubtnut.com/l/_VFzDdogHG8k1
https://dl.doubtnut.com/l/_MCouSaAG48vm

& Wwatch Video Solution I

22. A man observes a car from the top of a
tower, which is moving towards the tower with
a uniform speed. If the angle of depression of
the car change from 30° and 45° in 12
minutes, find the time taken by the car now

toreach the tower.

° Watch Video Solution



https://dl.doubtnut.com/l/_MCouSaAG48vm
https://dl.doubtnut.com/l/_guLgI2AAIv2g

23. The angle of elevation of the top of a
building from the foot of the tower is 30° and
the angle of elevation of the top of tower from
the foot of the building is 60° ,If the tower is

50 m high, find the height of the building.

o Watch Video Solution

24. A round balloon of radius r subtends an
angle a at the eye of the observer while the

angle of elevation of its centre is 8 Prove that


https://dl.doubtnut.com/l/_2KEWNq9gelAJ
https://dl.doubtnut.com/l/_0l9XQIJJX3lg

the height of the centre of the balloon is

r sin 3 cos ec{%]

° Watch Video Solution

25. A plane is flying along a road with a
constant speed of 600 km/h towards a point
on the road. Its angle of elevation changes
from 30° to 60° in 12 seconds. Find the

vertical height of the plane.

° Watch Video Solution



https://dl.doubtnut.com/l/_0l9XQIJJX3lg
https://dl.doubtnut.com/l/_q4rsdk000Hvf
https://dl.doubtnut.com/l/_N7Vr2W8ry53y

26. A bird is sitting on the top of an 80 m high
tree. From a point on the ground, the angle of
elevation of the bird is 45°. The bird flies away
horizontally in such a way that it remained at
a constant height from the ground. After 2
seconds, the angle of elevation of the bird
from the same point is 30°. Find the speed of

flying of the bird. (Take /3 = 1.732).

o Watch Video Solution



https://dl.doubtnut.com/l/_N7Vr2W8ry53y

27.The angle of elevation of the top of a tower
from a point on the same level as the foot of
tower is ¢. On moving 'a’ mctrcs towards the
foot of tower, the angle of elevation becomes
45° and again on moving b metres in the
same dorection, the angle of elevation
becomes (90° — ¢). Find the height of the

tower.

o View Text Solution



https://dl.doubtnut.com/l/_09Dvzr5aPHkH

28. The angle of elevation of a cloud from a
point 'h' metres above a lake is a and the angle
of deprssion of its reflection in the lake is .

Pover that the distance of the cloud from the

2h sec o

point of observation is :
tan 8 — tama

° View Text Solution

29. A man standing on the deck of a ship,
which is 10m above water level. He observes

the angle of elevation of the top of a hill as


https://dl.doubtnut.com/l/_j7mAogExyqVN
https://dl.doubtnut.com/l/_NePoIJ5TPEfB

60° and the angle of depression of the base of
the hill as 30°. Calculate the distance of the

hill from the ship and the height of the hill.

o Watch Video Solution

30. Two stations due south of a leaning tower
which leans towards the north are at
distances a and b from its foot If « and § are
the elevations of the top of the tower from

these stations then prove that its inclination 0


https://dl.doubtnut.com/l/_NePoIJ5TPEfB
https://dl.doubtnut.com/l/_UqkGo9biPrUr

to the horizontal is given by

bcot o — acot 8

b—a

cot 0 =

° Watch Video Solution

31. At the foot of a mountain, the elevation of
its summit is 45°. After ascending 1000 m
towards the mountain up a slope of 30°
inclination, the elevation is found to be 60°.

find the height of the mountain.

° Watch Video Solution



https://dl.doubtnut.com/l/_UqkGo9biPrUr
https://dl.doubtnut.com/l/_FARQ619CQhW8
https://dl.doubtnut.com/l/_C3hBXvYGtiUy

32. The angle of elevation of the bottom of a
window 10 m above the ground level from a
point on the ground is 30° A pole projecting
outwards from the bottom of the window
makes an angle of 30° with the wall. If the
angle of elevation of the top of the pole
observed from the same point on the ground
is 60°, find the length of the pole to the

nearest whole number.

o Watch Video Solution



https://dl.doubtnut.com/l/_C3hBXvYGtiUy

33. An observer 1.5 metres tall is 20.5 m away
from a tower 22 metres high. Determine the
angle of elevation of the top of the tower from

the eye of the observer.

o Watch Video Solution

34. The angle of elevation of the top of a
tower 30 m high from the foot of another
tower in the same plane is 60° and the angle

of elevation of the top of the second tower


https://dl.doubtnut.com/l/_GEc7XPz4dhg1
https://dl.doubtnut.com/l/_yFzVAXw7p3dO

from the foot of the first tower is 30°. Find
the distance between the two towers and also

the height of the other tower.

o Watch Video Solution

35. A ladder rests against a vertical wall at

inclination a to the horizontal. Its foot is

pulled away from the wall through a distance

p so that it's upper end slides g down the wall

and then ladder make an angle 3 to the
P cos B — cos «

horizontal show that — = — , :
q sina — sin 3

| = |


https://dl.doubtnut.com/l/_yFzVAXw7p3dO
https://dl.doubtnut.com/l/_e1axaAEiIBzf

I 0 Watch Video Solution I

36. From a window ( h meter above ground)
the angle of elevation of other house is 8 and
angle of depression is ¢. Find the height of

the house.

o Watch Video Solution

37. A statue, 1.6 m tall, stands on the top of a
pedestal. From a point on the ground, the

angle of elevation of the top of the statue is


https://dl.doubtnut.com/l/_e1axaAEiIBzf
https://dl.doubtnut.com/l/_9AXbNgOnWTWR
https://dl.doubtnut.com/l/_FySFxPDTKOs6

60oand from the same point the angle of
elevation of the top of the pedestal is 450.

Find the height of

o Watch Video Solution

38. Two poles of equal heights are standing
opposite to each other on either side of the
road which is 80m wide. From a point between
them on the road the angles of elevation of

the top of the poles are 60o and 300


https://dl.doubtnut.com/l/_FySFxPDTKOs6
https://dl.doubtnut.com/l/_tnn0L2if1Sp1

respectively. Find the height of the poles and

the distances of the point from the poles.

o Watch Video Solution

39. The angle of elevation of the top of a tower
from two points at a distance of 4 m and 9 m
from base of the tower and in the same
straight line with it are complementary. Prove
that the height of the tower is 6 m.

OR

The angles of elevation of the top of a tower


https://dl.doubtnut.com/l/_tnn0L2if1Sp1
https://dl.doubtnut.com/l/_d31DI7Ez6hjy

from two points at a distance of 4 m and 9 m
from the base of the tower of the tower and in
the same straight line with it are
60° and 30° respectively. Find the height of

the tower.

o View Text Solution

40. From the top of a 7m high building, the
angle of elevation of the top of a cable tower
is 60° and the angle of depression of its foot

is 45°. Determine the height of the tower.

| e |


https://dl.doubtnut.com/l/_d31DI7Ez6hjy
https://dl.doubtnut.com/l/_q55EuOH9A9G8

& Wwatch Video Solution I

41. A 1.2 m tall girl spots a ballon moving with
wind in a horizontal line at a height of 88.2 m
from the ground. The angle of elevation of the
balloon from the eyes of the girl at any instant
is 60°. After some time, the angle of elevation
reduces to 30°. Find the distance travelled by

the balloon during the interval.

° Watch Video Solution



https://dl.doubtnut.com/l/_q55EuOH9A9G8
https://dl.doubtnut.com/l/_JE7GcHtZ5ogk

42. A straight highway leads to the foot of a
tower. A man standing at the top of the tower
observes a car at an angle of depression of
300 , which is approaching the foot of the
tower with a uniform speed. Six seconds later,

the angle of depres

° Watch Video Solution



https://dl.doubtnut.com/l/_picmwBoxsDmb

1. The length of the shadow of a pole at a time

is 4/3times its height.Find the sun's altitude

o Watch Video Solution

2. A circus artist is climbing a 30 m rope, which
is tightly stretched and tied from the top of a
vertical pole to the ground. Find the height of
the pole to the ground. Find the height of the

angle made by the rope with the ground level


https://dl.doubtnut.com/l/_TFWBFW1VpD5E
https://dl.doubtnut.com/l/_skMdcy66W2du

is 30° ), as shown in the figure.

Om

o Watch Video Solution

3. The angle of elevation of the top of a tower

from a point on the ground, which is 40 m


https://dl.doubtnut.com/l/_skMdcy66W2du
https://dl.doubtnut.com/l/_UoMC6IJ3XeO1

away from the foot of the tower is 30°. Find

the height of the tower.

° Watch Video Solution

4.The angle of elevation of the top of a tower
from a point on the ground, which is 25 m
away from the foot of between the ship and

tower.

o Watch Video Solution



https://dl.doubtnut.com/l/_UoMC6IJ3XeO1
https://dl.doubtnut.com/l/_UUBVan7M2sRa

5. The angle of depression of a ship from the
top a tower of height 50 m is 30°. Find the
horizontal distance between the ship and

tower.

o Watch Video Solution

6. The angle of depression between a flying
kite and 'a' point on the ground is 60 m. If the
string makes 30°. Find the horizontal distance

between the ship and tower.

| & I


https://dl.doubtnut.com/l/_RnCTt5XGpz61
https://dl.doubtnut.com/l/_u7Ogjp9muKCU

| ¥ View Text Solution |

7. The angle if depression of a ship from the
top a tower of height 50 m is 30°. Find the
horizontal distance between the boat and the

bridge.

o View Text Solution

8. The upper part of a tree broken over by
wind, makes an angle of 30° with the ground.

If the length of the upper part is 8/3


https://dl.doubtnut.com/l/_u7Ogjp9muKCU
https://dl.doubtnut.com/l/_Bi8IIPJHVUVD
https://dl.doubtnut.com/l/_eZvGiPeR0Jp3

metresthen what was the height of the tree

before broken ?

° Watch Video Solution

9. In a violent storm, a tree got bent by the
wind. The top of the tree meets the ground at
an angle of 30°, at a distance of 30 metres
from the root. At what height from the
bottom did the tree bent? What was the

original height of the tree? (Use /3 = 1.73)

° Watch Video Solution



https://dl.doubtnut.com/l/_eZvGiPeR0Jp3
https://dl.doubtnut.com/l/_8n3Qg3qKmR5u

10. The angle of elevation of the top of a tower
from a point on the ground is 30°. After
walking 45 m towards the tower, the angle of
elevation becomes 45°. Find the height of the

tower.

o Watch Video Solution

11. There are two points on the horizontal line
passing through the foot of a tower in the

same side of the tower. The angle of


https://dl.doubtnut.com/l/_8n3Qg3qKmR5u
https://dl.doubtnut.com/l/_rXatGhlfyX8C
https://dl.doubtnut.com/l/_RDQ9wjt88Iag

depression of these point from the top of the
tower are 45° and 60° respectively. Find the
distance between the two point if the height if

the tower is 150 metres.

O Watch Video Solution

12. From the top of a light house, the angles of
depression of two ships on the opposite sides
of its are observed to be aandp . If the height
of the light house be h metres and the line

joining the ships passes through the foot of


https://dl.doubtnut.com/l/_RDQ9wjt88Iag
https://dl.doubtnut.com/l/_lOheVtKfN92J

the light house, show that the distance
tana + tan 3

tan atanf

between the ship is (h

o Watch Video Solution

13. From the top of a light-hours, the angles of
depression of two ships on the opposite sides
are observed to be 30° and 45°. If the
height of the light-house, is 90 m and the line
joining the two ships passes through the
light- house, then find the distance between

the ships.



https://dl.doubtnut.com/l/_lOheVtKfN92J
https://dl.doubtnut.com/l/_WZBaFVWwjzmz

I O Watch Video Solution

14. An aeroplane, when 3000 m high, passes
vertically above anthoer aeroplane at an
instant when the angles of elevation of the
two planes from the same point on the
ground are 45° and 60° respectively. Find

the vertical distance between the tow planes.

o Watch Video Solution



https://dl.doubtnut.com/l/_WZBaFVWwjzmz
https://dl.doubtnut.com/l/_UIECoxUobpbR

15. The angle of elevation of the top of am
incomplete temple, at a point 30 m away from
its foot, is 30°. How much more high the
temple must ne constructed so that the angle

of elevation of its top at the same point be

45°.

o Watch Video Solution

16. The angle of elevation of the top of an

incomplete tower, at a point 40m away from


https://dl.doubtnut.com/l/_sFZvVae4Zo45
https://dl.doubtnut.com/l/_UCMWR46NOEEk

its foot, is 45°. How much more high the
tower must be constructed so that the angle
of elevation of its top at the same point be

45°7

o Watch Video Solution

17. On a straight line passing through the foot
of a tower, two points C and D are at distances
of 4 m and 16 m from the foot respectively. If

the angles of elevation from C and D of the


https://dl.doubtnut.com/l/_UCMWR46NOEEk
https://dl.doubtnut.com/l/_kcAjKBoUXj00

top of the tower are complementary, then find

the height of the tower.

o Watch Video Solution

18. The angle of elevation of the top of a tower
from the foot of a house, situated at a
distance of 20 m from the tower is 60°. From
the top of the top of the house the angle of
elevation of the top of the tower os 45°. Find

the height of house and tower.

A. 14.64m, 34.64m


https://dl.doubtnut.com/l/_kcAjKBoUXj00
https://dl.doubtnut.com/l/_vDHXlpayx7Cf

B. 13m, 34.64m

C. 14.64m, 32m

D. None

Answer: A

o Watch Video Solution

19. There is a 7m high statue standing on a
cliff. At a point P on the ground, the angle of
elevation of the foot of the statue is a. After

walking 34 metres towords the cliff from that


https://dl.doubtnut.com/l/_vDHXlpayx7Cf
https://dl.doubtnut.com/l/_AYVXHdX8saeO

point, the angle of elevation of the top of the
statue is (90° — a), find the height of the cliff

iftanc = —.
IT tal & 5

° View Text Solution

20.The distance between two towers is 140 m
while seeing from the top if the second tower,
the angle of elevation of first tower is 30°.If
the height of the second tower is 60 m, then

find the height of the first tower.

° Watch Video Solution



https://dl.doubtnut.com/l/_AYVXHdX8saeO
https://dl.doubtnut.com/l/_GPrzKsFlxq2c

21. A temple and a flagstaff surmounted at its
top, each subtends equal angle of 30° at a
point on the ground. If the height of the

temple is 10 m, find the height of the flagstaff.

o View Text Solution

22.A 7 m long flagstaff is fixed on the top of a
tower on the horizontal plane. From a point
on the ground, the angles of elevation of the

top and bottom of the flagstaff are


https://dl.doubtnut.com/l/_GPrzKsFlxq2c
https://dl.doubtnut.com/l/_N4I54iACHKq1
https://dl.doubtnut.com/l/_NlW0rVqOI4gF

45° and 30° respectively. Find the height of

the tower.

° Watch Video Solution

23. At one side of a road, there os a house and
on the other side there is a tower. House and
tower are on the same horizontal plane. The
angle of depression of the top and foot of the
house, from the top of the tower are

30° and 45° respectively. If the height of


https://dl.doubtnut.com/l/_NlW0rVqOI4gF
https://dl.doubtnut.com/l/_oY75wQFckhFz

the house is 10 m, then find the distance

between the house and the tower.

° View Text Solution

24. A tower subtends an angle of 60° at a
point on the plane passing through its foot
and at a point 20 m vertically above the first
point, the angle of depression of the foot of

tower is 45°. Find the height of the tower.

° Watch Video Solution



https://dl.doubtnut.com/l/_oY75wQFckhFz
https://dl.doubtnut.com/l/_RjPWr1aE27NM
https://dl.doubtnut.com/l/_seZS6jPTvYfF

25. An aeroplane is flying over two houses
which are at a distance of 300 m from each
other. If at some moment from the aeroplane
the angle of depression of two houses on the
same side are 45° and 60°, at what height

the plane is flying ?

o View Text Solution

26. From the top of a 96 m tower, the angles of
depression of two cars, on the same side of

the tower are « and Prespectively. If


https://dl.doubtnut.com/l/_seZS6jPTvYfF
https://dl.doubtnut.com/l/_ULm0EBWUDcul

1 1
tana = 1 and tanpg = e then find the

distance between two cars.

o Watch Video Solution

27. The angle of elevation of the top of a

vertical tower, from a point in the horizontal

plane passing through the foot of the tower is

6. On moving towards the tower 192 metres,

the angle of elevation becomes ¢. If
5 3

tanf = T and the¢ = 1 then find the

height of the tower.

| e |


https://dl.doubtnut.com/l/_ULm0EBWUDcul
https://dl.doubtnut.com/l/_N7rOhBgujmhQ

L ® View Text Solution I

28. The upper part of a tree broken over by the
wind makes an angle of 60° with the ground
and the horizontal distance from the foot of
the tree to the point where the top of the tree
meets the ground is 10 metres. Find the

height of the tree before broken.

° Watch Video Solution



https://dl.doubtnut.com/l/_N7rOhBgujmhQ
https://dl.doubtnut.com/l/_8QCdWKyakiXm

29. From a boat, which is moving towards a
bridge, the angle of elevation of bridge is 30°.
After 10 minutes, the angle of elevation
becomes 60°. Find how much more time will

take the boat to reach at the bridge?

o Watch Video Solution

30. The angle of elevation of the top of a
building from the foot of the tower is 60°.

After a flight of 15 seconds, the angle of


https://dl.doubtnut.com/l/_rnu9NtxlpRLw
https://dl.doubtnut.com/l/_CZ2fBlgj9mjq

elevation changes to 30°. If the aeroplane is
flying at a constant height of 1500,/3m find

the speed of the plane in km/hr.

o Watch Video Solution

31. The angle of elevation of the top of a
building from the foot of the tower is 30° and
the angle of elevation of the top of the tower
from the foot of the building is 45°. If the
tower is 30 m high, find the height of the

building.

| e |


https://dl.doubtnut.com/l/_CZ2fBlgj9mjq
https://dl.doubtnut.com/l/_jeUmUiOHSp1d

& Wwatch Video Solution ]

32. A flagstaff on the top of tower 80 m high,
(1 :
subtends an angle tan 9 at point on

the ground 100 m from the tower. The height

of flagstaff is

o Watch Video Solution

Revision Exercise Short Answer Questions


https://dl.doubtnut.com/l/_jeUmUiOHSp1d
https://dl.doubtnut.com/l/_ZV3aaSk41KLe

1. A pole of height 6 m casts a shadow 2,/3 m

long on the ground. Find the sun's elevation.

° Watch Video Solution

2.Find the angle of elevation of the sun when
the shadow of a pole 'h' metres high is /3h

metres long.

° Watch Video Solution



https://dl.doubtnut.com/l/_pYcZIccQbLNI
https://dl.doubtnut.com/l/_1NksZwEIUgSt

3. The angle of elevation of the top of a tower
from a point 40 m away from its foot is 60°.

Find the height of the tower.

o Watch Video Solution

4. The height of a light house is 40 m. The
angle of depression of a ship from the top of
the light house is 60°. Find the distance of

ship from the light house.

° Watch Video Solution



https://dl.doubtnut.com/l/_AhoXFjyZTcWw
https://dl.doubtnut.com/l/_NPLRLO9DUyYQ

5. A man goes 80 m on an inclined cliff inclined
at 45° from the horizontal. Find the vertical

height of the man from the ground.

o Watch Video Solution

Revision Exercise Long Answer Questions

1. An aeroplane is flying above a horizontal
road between the two consecutive kilometer's

stones. These stones are on the opposite sides


https://dl.doubtnut.com/l/_NPLRLO9DUyYQ
https://dl.doubtnut.com/l/_i5k6R9bXJTbb
https://dl.doubtnut.com/l/_MmSglfNMHtjl

of the aeroplane. The angles of depressionof
these stones from the aeroplane are

30° and 60°. Find the height of the

aeroplane from the road.

° View Text Solution

Long Answer Questions

1. From a window, 60 metres high above the

ground, of a house in a street, the angles of

elevation and respectively. Show that the


https://dl.doubtnut.com/l/_MmSglfNMHtjl
https://dl.doubtnut.com/l/_58oUsUU8cQq6

height of the opposite house is 60(\/3 + 1)

metres.

o Watch Video Solution

2. O a horizontal plane, there is a vertical
tower with a flagpole on the top of the tower.
At a point, 9 metres away from the foot of the
tower, the angle of elevation of the top and
bottom of the flagsaff are 60° and 30°
respectively. Find the height of the tower and

the flagpole mounted on it. (Use 1/3 = 1.732)

| e |


https://dl.doubtnut.com/l/_58oUsUU8cQq6
https://dl.doubtnut.com/l/_VQCkSK5ToHI2

& watch Video Solution I

3. A boy standing on a horizontal plane finds a
bird flying at a distane of 100 m from him at
an elevation of 30°. A girl standing on the
roof of a 20 m high building finds the angle of
elevation of the same bird to be 45°. Boy and
girl are on the opposite sides of the bird. Find

the distance of the bird from the girl.

° View Text Solution



https://dl.doubtnut.com/l/_VQCkSK5ToHI2
https://dl.doubtnut.com/l/_UTFwXPI5UJDy

4.The angle of elevation of the top of a tower
as observed from a point on the ground is a
and on moving 'a’ metres towards the tower,

the angle of elevation is (. Prove that the

atanatan 8

height of the tower is :
tan 8 — tan«o

o Watch Video Solution

5. The angle of elevation of a cloud from a

point 60m above a lake is 30° and the angle of


https://dl.doubtnut.com/l/_kfa2n8uE0gNv
https://dl.doubtnut.com/l/_HEi1gWdZkRQt

depression of the reflection of cloud in the

lake is 60° . Find the height of the cloud.

° Watch Video Solution



https://dl.doubtnut.com/l/_HEi1gWdZkRQt

